CP-1142

M.Com. (Previous) EXAMINATION, 2015
ACCOUNTANCY AND BUSINESS STATISTICS
Second Paper

Research Methodology and Statistical Techniques
Time allowed : Three hours

- Maximum marks : 100

Shri Jain P G College, Bikaner

Attempt five questions in all, selecting at least

one question from each Unit. All questions
carry equal marks.

A% B3 § & H7—9-F7 Y& G99 PT gd7
BV 8V, H gla gl @ Faw fore | Wt geEr

P 3 TAM & |
Unit - 1
318 —1
Define Research and discuss the objects of Research.
ey 2 TR AR e A B Shem e |
OR/ Jigar ‘

A set of 5 coins 1s tossed 3200 times and the number of

heads appearing each time is noted. The results are
given below

P.T.O.
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< o g 2 9200 T ST T I iy g *
o firc a8 i 1 fore N | PP AR R oy

No.ofheads L 7o 1100 900 500 s

Frequency 80

Test the hypothesis that the coins are unbiased.
= URee @ S A 6 RidwT gEter 8 |

[You are given the values g X' at 5% level of
significance forv=4is9.49and v=>5is 11.10 and v=6 5
12.6] 20

Unit - 11

ECaEas |

From the following table find out the number of
students who secured first class if first division is
awarded at 60% of more.

frferfea ol | wem Sroft & Seff e @t

FHeET 7T BT, A w2 it 60% (wfererar) a1 1
S A WA AR

Marks 020  20-30 30-50 Below75
(Outof75)
No. of students 20 15 25 70 .
OR/ 3oy
CP-1142 2

-3

4t In a distribution four moments are 1, 4, 10 and 46
calculate the four central moments and bety
coefficients of the distribution and comment on it.

. 10+6+4
UP §¢9 & Ugel IR GRETd 1, 4, 10 U9 46 ¥ | 99 §e
$qsﬁawahﬁuqﬁamaanaﬁamamaﬁﬁm
9 B gy W el A |
Unit - 111
gBE—I11

5. Write short notes on the following - 5+5+4+86
@) Consistency of Data
(i)  Ultimate class Frequencies
(iii)  Complete association
(iv)  Difference between Association and Correlation

o ot ox wifdrey ooy farRag —

(i) |HP B HIfY

(i) oy & smgfort

(i) ot e TR

(iv) U T G- Y o
OR/ 3@t

6. (i) Veenus tossed a coin 99 times, He got a head up every
time. What is the probability of getting a tail in the 100"
throw of the Coin ? 4

CP-1142 3
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e | 5 TR P oy

g A 99 IR TP
100 &F AR R

g?

Ryl
mﬁqqtﬁ'&ﬁﬂ%mw%‘

ng a total of greater than

(i) What is the probability of getti
5

9 on a throw of two dice.

& al B G W o & D FT AT S B

T 2 |

(iii) What is the probability that a specified player would
hold all the four kings ina game of bridge ? 5

fror 3 Qe § e RS Raeme! ® U ARl aTaRE
31T Y 7T Wit & ?
(iv) Aman Manan and Yash in order toss a coin. The first

one to throw a head wins. What are their respective

chances for winning ? 6

3, W T A A W U (RIadT SBTerd © | gEel
IR Fred B arel SHaar & | SHD SiidH b HAL: F4qT

FHET 8 ?
Unit - IV
FIE-1V
, X is a Poisson Variate. It is known that Frequencies of X

taking the values 3 and 4 are equal. Calculate the

probabilities with which x can take the values 0 and 1.
20

P-1142 4

XUP AEHT deT 8 | T8 31T € 5 x D 513 0 4
TR 3mgfcrdt s el &, o x BT gew 0 vd 1 94 w
e s g |

OR/ 3rar

8. Three varieties of wheat are testzd in a completely
randomized design with four repiicants. Layout and
yields are given in the following table. Prepare an
analysis of variance table and test whether the
difference in (I) three vatieties of wheat and (II) plots,
asregardstoyield is significant ? 20

i geR @ gl FT WeE PR argiad
2| A R Suw e ameh § @ e R
THRU—fagemer R GgR AT iR a8 aeror
DI 6 a1 (1) 15 & T garI A F (1) @vsi §

IU9 Bl gfte 7 IR wRiE 8 ?
A=6 C=5 A=8 B=9
C=8 A=4 B=6 C=9
B=7 B=6 C=10 A=6 20
Unit-V
™R-V

9. The height of 6 randomly selected soldiers
63,66.68,64,65 and 64 inches and eight randomly
selected sailors 63,64,62,66,65,61,63 and 60 inches.
Whether on an average soldiers are taller than sailors ?
Which is that distribution on which your process is

based ?

CP-1142 5
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B AT A T ATl B BT 6366686465 7 ¢
64 39 B 3R 36 YA T 5w ANl B e 63, 64, _.
62, 66, 65, 61, 63, T 60 §9 & | T AfT® i e
Al @ aifdres T ¥ ? gw B de R W
At wfafer s |

o Pl AT S A
NERLEY & ;.;7’:.““;‘ ¥ T et = ~‘4 S A RN
b T L i RS R Rl Bt Ay

OR/ 3rvar

10. Explain Meaning, objects and different methods of

sampling. 4+6+10

e o7 aref, SRwal vd fafa= fafdral o) wHs=R |

CP-1142 6 2600
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CP-1133

M.Com. (Previous) EXAMINATION, 2016
ACCOUNTANCY AND BUSINESS STATISTICS
Second Paper |

Research Methodology and Statistical Techniques

Time allowed : Three hours
Maximum marks : 100
Attempt five questions in all, selecting at least

one question from each Unit. All questions carry
equal marks.

gd® gpiE § @ FH-H-FF TH FIT T G997
FVT §U Pl giag g F TV o/ H
gt & 3F GHIT &/

Unit. - I
o8 - 1
What do you mean by "Research Design" ? Discuss the place

and role of hypothesis in preparing a Research Desing. 8+12
Yy AfHeT A AT T I & ? U Y AP @
ﬁﬂfﬂﬁmﬁquﬂsﬂaﬁﬁﬁrﬂﬁaﬁ?
PHITT |

P.T.O.
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OR/JYdl

2. The following information were obtained in a sample of 50

small general shops -

e gaeTY 50 B WE gEM @ dfase ¥ e oy

T off —
Townshops | Villageshops | Total
Run by men 17 18 35
Run by women 3 12 15
Total 20 30 50

Can it be said that there are relatively more women owners
of small general shops in villages than in towns ?
T AT FET O WHAT ¢ 5 wed B yven Al F Eh
Tl Ve AP 8 ?
(Given value of xz for one d.f. at 5% level of significance,
viz, 3.84) 20
Unit - IT
318 - 11
The following table gives the age of mothers and the average
number of children born per mother. Find the average number
of children born per mother aged 25-29 by Lagrange's
Method.
o1 Aot & Arand @ ey qen wfy | @ Yer gy s
&1 Sl W < TS R | 25-29 g P ufy e @ g

2 CP-1133

“amﬁmmmﬁﬁﬁ%wﬁm|

AT B 3Ty
(Ageof Mother)
T B w07 21 48 5.7 58
(No.of Children)

15-19 20-24 30-34 35-39 40-44

OR/3rar
The first four raw moments of a distribution are 7, 70, 140
and 175 respectively. Compute the first four Central
Moments and the B coefficients. Comment upon the nature
of the distribution. 10+6+4
o1 fawg & et worw =R aRerd HAwn: 7, 70. 140 75 175
T WM 4 D=g GREml B aReer AR B (@)
ONE ST DI AT de BT Upia W fRuod HRRY |

Unit - III

318 - III
At an examination 600 candidates took the examination,
boys outnumber girls by 96. Those passing the examination
exceeded in number those failing by 310.The number of
successful candidates choosing science subject was 300,
while among the girls offering Arts subjects there were 25
failure, Altogether only 135 offered Art and 33 among them

failed. Boys failing in examination numbered 18.

CP-1133 3 PTO.
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Find :-
(i) Number of successful boys
(ii) Number of students appeared with science as their
subject

(iii) Number of girl candidates passed in science. 20
600 eI} @ U Tl (competitive) TR H BT Y
T BTART ¥ 96 S off | U B arel WeniRidt a5y
& & 81 arel wenffal @ e | 310 e o |
fasm= & 300 B W TR T, TEB FAT B 25 BTN
Bt gl T | T 135 Bom B gt O, R | 33
Bl U | A 18 BT Bl gY | T B |
() YN.BF T BTE @ e
(i) FHA IR 7 T AEE & BE B EeEr
(iii) T B arell fas= &) sl @Y San

OR/3rar
Define and explain the following :- 5+5+5+5

=1 @ aRamar 7T 19 wwemT -

(i) Simple and compound events
RS U4 WY "eAn

(ii) Mutually' Exclusive events

IR YT TeATg

4 CP-1133

., (i) Exchaustivccvcnts

fredty emmy
(iv) Equally likely events
FAIRYS e
Unit- IV
gB18 - IV

7. (i) There are 64 beds in a garden and 3 seeds of a

particular type of flower are sown in each bed. The
probability of flower being white is % Find the

number of beds with 3, 2, 1 and 0 white flowers.
TS I H 64 TRET E 3R vR% T ¥ v Ry
YER B 0 & 3 4 ) 9 ¥ | ve w0 g @

T S B wriiear % §13,2, 190 WBS Bt areh
TR B HeE=m S B |

(i) In a army batalian 60% are married. Find the
probability of 0, 1, 2, 3, 4, 5 married soldiers in a row
of 5 soldiers. If there are 500 rowé of 5 soildiers ine;

grounds, then how many of them wil have (a) 3 (b) all

(c) none, married soildiers. 10+10
% e qerfer § 60% Rafed &1 5 el &
CP-1133 5 P.T.O.
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TH HaR | 0, 1, 2, 3, 4 5 faared S R g
grfaT STd Afg | afe fee ¥ # 55 W
2 500 Ukl @S & A (a) T e df B
Rl 3 Rafed W (b) 1 fafea &1 (c) Th A
faarfaa =& B

OR/3reqdar

8. What is analysis of variance ? Explain clearly the technique

of analysis of variance for data with one-way classification.

20

TeRYT figemy {59 ®Eg € ? 1 Anfig el 3 for
| SRR RSN @ TaIE T BT ¥ WA

Unit -V

FHE -V
Following are the gain in weight (in libs) in a random sample
10 cows fed on food A :- 20

AT AR & T 10 TR B gfed gy @ forg vw
Prfem orafdy ¥ S AR ¥ Freied oy (@ve ) €
10, 6, 16,17, 13,12, 8,14, 15,and 9

The gain in weights fed on food B in the same period in a
random sample of 12 cows are as follows.

@ B A < T 12 T B UF I Ages Hed &
fore ¥ oy ¥ frerifra wR—3fE & -
7,13,22,15,12, 14,18, 8,21, 23, 10 71 17

6 CP-1133

e T T T T T o

S—

e S e e

; Testthe hypothesis that the foods are significantly different

as far as increase in weights is concerned ? Use the following

portion of statistical tablc.
9 T 9 Sifg BT & 71 @ A 3R @’ B g
TR—gfg R 7910 & = F =R 9is ® ? |k
et & fr=ifea o &1y Hifg |
d.f. (@ 3ie) 19 20 21 22 23
5% Arfddr WR W 2.093 2.086 2.080 2.074 2.07
"' HT Il
(value of "t" at 5% level)
OR/J1at

10. "Samples are like medicines. They can be harmful when they
are used carelessly or without adequate knowledge of their
characteristics”. Discuss the above statement and state what
precautions you will take while selecting a sample ? 20
“Freel €@ @ @ 21 AR I TA IS
2T & T 3OS ANvael & vEe T T8 fa @ a
of FR® & waa &1
S F @ gE A @ 9 T 5 e d
T TN AT W 7

CP-1133
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CP-1128

cP-1128

M.Com. (Previous) Examination, 2017
ACCOUNTANCY AND BUSINESS STATISTICS

Second Paper
Research Methodology and Statistical Techniques
Time allowed : Three hours

Maxinnmm Marks : 100

Attempt five questions in all, selecting at least
one question from each unit. All questions

carry equal marks.
gR)E g H W BHEEFH §h AT Pl
Aforo | el gel & 3iF EHIT &

UNIT -1
5o - |

What is Research ? Explain the types and procedure of

research. [4+8+8]
wiRT T & ? Y B UhR UG HfhdT Sdisy | |

OR

JAd(
The following table gives the number of aircraft accidents that
occurred during the various days of the week. [20]

frer @roll & 0 war @ fafe A § g8 faum
gdwaﬁmﬁmmm@‘ratﬁrné%

(1) P.T.O
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Day (f39) Sun | Mon | Tue Wed | Thu | Fri
No. of Accidents 14 16 8 12 11 9

gefes @ T

OR
Ay

Find whether the accidents are uniformly distributed over the - 6. Out of 7 Indiuns and 4 Pakistanis. in how many ways can a five
week ? member committee be formed if'it should have ) [5+5+5+5)
. . - . . (1) Al indians
qaTey fp @ awE § Al ot ¥ aga SHeAd aHe _
=T - (b) At least 2 Pakistanis .
IqNe : (¢) At least 2 Indians and 2 Pakistanis
UNIT - 11 . (d) Not morc than 2 Pakistanis. i
o - 11 7 qRETE T4 4 nifFwal & wE 4 9 5 atkl B w
HfAfy fodd TER ¥ g% A1 "l & R I9 AfRfy #f
3. From the following data find out the population for 2012 and ) l~ . 7 A #:
2016 : [20] (a) WAT FIATE 2
fopey et @ a¥ 2012 TE 2016 B SEET T BT - (b) &% | T 2 THTAEI &
3 b) T q—ﬁ,—?ﬂ:ﬁ Y
Years 2010 | 2011 | 2012 | 2013 | 2014 | 2015 ZUIj (© T;g FH 2RI Q? 2?3[ o 8t
Population in Lakhs | 11.5 | 167 | ? | 273 [ 380 | 2 | 503 (d) 2 ¥ S FiHeEaT 7 E
OR UNIT -1V
aferam » TS - 1V
. C late the first four moments about the mean of the ) o ) .
4 %e;llcu a e da::a' : [4x5=20] 7. What is Normal Distribution ? Explain its features. How is
ollowing : probability under Normal Curve determined ? [4+8+8]
ﬁﬂméwmﬁaﬁmﬁmlﬂﬁmi TRIART e 7 ¥ 7 SAd [San AHegy | e a% #
Value 50 | 35 | 40 | 45 | s0 | 55 | 60 siftreaT e 9ER FuiRa @ SRl § ? ISR afed wEEEy |
I —
Frequency 2 3 11 20 32 25 7 OR
FRAERAT AT

UNIT - I1I
garg - 11

5. What is meant by Association of Attributes 2 How is its
-~ existence or non-existence determined ? [5+15]

wmmmaé%?mvﬁmmmw
@1 fpa yaR FaRker fhar @i & 7

CP-1128 (2) , CP-1128 (3)

8. The table below gives the yield of wheat in six blocks:  [20]
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Test the significance of difference between the yield
four varieties. | -

Note : Table value of F at 5% level =3.10
AR fet @) 3 B SRR & drd Tl WRIeTT B |
e : 5% WR W F BT IR g =3.10
UNIT-V
P8 - V
9. Define Sampling Method. What are the essential features of a good
sample ? Explain the merits and demerits of Sampling. [4+6+5+5]

e fafy @1 GAegY| UE 9O ded @ 3MEedd ad
aq1 § ? free fafr & Tor vd <9 a7Ey |

OR
3l
10. Two random samples have been drawn from a universe having
Z 40 as weekly standard deviation of wages. Find out :

(i) Is average income of first sample significantly different
from the combined average income ? [10]

(ii) Is average income of second sample significantly
different from the combined average income ? [10]
Sample 1 : Number = 800, Average Weekly Income =< 500
Sample 2 : Number = 1200, Average Weekly Income =X 450

F 40 GRS AoGd S e Al U I W < 9

yfereet frerel M| T8 10 BT P

(i) a7 yed wfaes @) oiwd g &1 Ml ufaewl @
e A T W HAE IFTR T 7

(ii)w@fﬁamaﬁaﬁwmmaﬁmaﬁ
aMfed Aed A 9§ WG IR € 7
AT 1 ; T = 800, AT AIEfed I =X 500
AT 2 < T = 1200, AT AAI(Ed 30 =T 450

Cp-1128 (4) |
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CP-1141

M.Com. (Previous) Examination, 2018
ACCOUNTANCY & BUSINESS STATISTICS
Second Paper

(Research Methodology and Statistical Techniques)
Time allowed : Three hours

Maximum Marks : 100

~ SECTION-A (Marks : 2 x 10 =20)

Answer all ten questions (Answer limit 50
words). Each question carries 2 marks.

| U8 -3  (IF :2x10=20)
AR &9 JEl @ TR g (SR ET 50
&) | UU® U 2 3ih BT 8 |

SECTION-B  (Marks : 8 x 5 =40)

Answer any five questions out of seven (Answer
limit 200 words). Each question carries 08 marks.

gees-9  (IF: 8x5=40)
g @ e 9 JwEl & SR AR ([TR
AT 200 I]) | TS U¥H 08 3fF FT 2 |
‘SECTION -C (Marks: 20 x2 =40)

Answer any two questions out of four (Answer
limit 500 words). Each question carries 20 marks.

avz . g (37% : 20 x 2 =40)

mzﬁﬁﬁ?%"fﬁuﬁa%wm(ﬁ?
Wsoow)lmmzoafzﬁm?l .

CP-1141 (1)
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CP-1141

SECTION - A
Q) Wh T - g
' at is
* Rescarch ? s (i) Wh ‘ ‘
Iy e ‘ at do vou mean by ctatistical Hyputhc:«'ls ? 2]
(i) Wh . [ qifrarg RHCT 3 g aar A &7
at is a C
uest; . .
RS N Q lestionnaire 9 (x) Wrte any two propertics of t-distribution (2]
(iil) “7 . ?‘ ? [ t"a\Nu‘ zﬁ Eﬁﬁj aﬁ !uﬂi(ﬂ(’ .p'?” c].\[
tite th ) ~
. e form
 interpolation ula  of Langr SECTION-B
- ’ ange‘s
T Ry method 7o — &
ﬁ Wm . 0] Ll
(iv) Explain the obi ST B a5 T [2. In an industy 200 workers employed for specific Job. were
9ReTg} Jects of the calcy]ag; ferfere classified according 0 (heir performance training
v @ T B St ation of moments received/not received to 18t independence of a specific
) Find the probabj BT I 3y | -2 traiping and performanics The data are summarized 85 -
Fl‘idayS_ ab'ht}’ that a | follows: (8]
eap yeal’ “”1.“ h — ———,///—' e — e
ave 53 performance Total
//
Good Not Good .
150

[2]

attributes,
T I A o R
. .
(vii) Explain . | [2
any tw i
© applications of Ana]
alysis of Varj
ariance,
[2]

H¥RT faergor
® P 2 ST g
[

deviation j
nis?2 i .
s 2. Calculate n, p and tion is 12 and stang
) ard

V% fgug fawy q.
qumq%:T;;’t’ma‘wmz [2]
(2) ! 23’“’

100 50
50

Trained
Untrained 20 30
p— //
Total 12 80 200
-
Ust o test of independence at 5% level of significance and

our conclusion.

write Y

|Data from 4 table "t dof = 5%) = 3.84]
@mﬁﬁﬁﬂﬂmmﬁaﬂﬁa‘,mzw
a;dar&s},ﬁr%qmm Vel & wq & 7T
fp T B vl & IR qﬁ&mﬂaﬂﬂml
it @ ﬁeﬁﬂaﬁmz :

- 1141 (3) p.T.0-

Scanned with CamScanner



N S
™

.&rom the following frequencies, find out the missing

TR 75T
| qﬁ bl
00
SRRy 50
20 150
30 50

)
* (Ldof =504~ 3 g4

3. ¢
alculate
first f
o . our ce
Mquency dlsmbu[ion . ntral Moments from, the f
w ) ¢ tollowijp,
0-10 b
Frequenc‘y | 5 10-20 20-39 30-40 .
. . : — 40-30
SR e o g ‘Tﬁaﬁb y Fiforg
| I
- O CIEN WE[ S 0
» | i o717 :
5 0-20 20-3¢ 30-40 y
40-5
4. Define d 8 ) ’ DO
Nd explain the follow; 6
@ M .
) Utually exclusive events
b) Equallylikely events | [
4]
T Y Ry SRTY v Bk IRy
(a) ™y LGV ey | [4]
®) TR iy
CP-1141
(4)
—

frequencies:

(8]

Prefife aRERERT @ SR R IE 9 JRERAN S

'cﬁﬁfq :
=977 (B) =1185 (C) =586
=463 (AC)=264 (BC)=270
(ABC) =127 N =6000
What do you understand by ‘Design of Experiments’ ? What
are their uses ? , [8]
uﬁﬁW%WWW%?MwW

7. Distinguish between the normal an

8.

g7

d binomial distribution and

discuss briefly the importance of normal distribution for
[4+4]

statistical inference.

m a large population.

A sample of 100 students is selected fro
64" with a standard

The mean height of the students is

deviation of 4”. Can it reasonably be regarded as sample taken
from a population whose mean height is 66" 7 [8].
W@W%moma‘imqﬁmﬁﬂﬁ-rﬂﬂumﬁ
mﬁéméﬂ%aﬁ?mﬁaﬂﬂ4§a%|mn§@
wﬁﬁmmmmwm%ﬁwmm

66 39 B ?
P.T.O.

(5)

cp-1141
e
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SECTION -C
Qg —- g

10.

Earning
™ming less than (Rs.) - [2
No. of worl s 30 !
- of workery - h ? 35
Fifee aipe oy 300600 g9p o ”
. TG 0
7 (& o ﬁésﬁwg%mgﬁmmm
) %. ;
P | 20 250 3 e
=T ) 7 35
300 I
1L () A bag %00 800 900 1gg9
2 contai < .
contains -“,m:i'l:‘S > white and 7 black ba];
ite and 8 black bajjs On: nls). Another bag
all is sele 1
cted

second bag. What ;
. E- at is i
is a white bal] ? S the probabilj

VP @l H 5 e
qPT PE T 7 BIoft W
aﬁw;;am""?lqa-\mifw
'—ﬂ%@_g’qm“ "mg%:“ s
i T | g

9T T

I FHAI T

Y TS T 4w g g
EGIE]

ﬁmmwﬂmﬂﬁwmm%%gam
ﬁmnéﬁawmﬂ?ﬁrﬁ?

(ii) A box contains 6 black and 5 green balls.
the box. He is given Rs. 5 for every black ball

2 balls from .
and Rs. 10 for every green ball. What is his expectation ?
(10]

A person draws

es? Discuss various

the cases when each
[6+6J-8]

9 What are its objectiv

12. What is sampling
amples and indicate

methods of selecting s
of them should be used.

qﬁﬂmw%?mwﬁ‘ﬂ%

WWWWW&N
mmmmﬁm

g e e R

_

(M
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CP-1141
M.Com. (Previous) Examination, 2019
ACCOUNTANCY & BUSINESS STATISTICS

Second Paper

(Research Methodology and Statistical
Techniques) ’

Time allowed : Three hours
Maximum Marks : 100

SECTION - A (Marks 2 x 10 =20)
Answer all ten questions (Answer limit 50 words).

Each question carries 02 marks. )
qus - A (AH 2 x 10 =20)

AT g8 WA % I A (ST Hm 50 i) |
Y99 02 3H H1 2 |
SECTION-B  (Marks 8 x 5= 40)

Answer any five questions out of seven (Answer limit

200 words). Each question carries 08 marks.
-9 (3T 8 x 5 = 40)

g
ara § & feedi ule wAt % s Qe (3T Hm 200
91e2) | Y% UF 08 3 H1 8 |
SECTION -C (Marks 20 x 2 = 40)

Answer any two questions out of four (Answer limit
500 words). Each question carries 20 marks.
@ g -4 (A 20 x 2 = 40)

are i @ ferdl A Wi 3 I QT (3T HW 500 W) |
e T 20 3h HI R |

CP-1141 1 P.T.O.
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(i1)

(111)

(iv)

(v)

CP-1141

SECTION - A
Qg - A

What is Pure or Fundamental Research ?
T = snyTE My F R 2

What is observation method of
collection ?

o Hehetd ) IR faf s 2 7
What is difference between interpolation and
extrapolation ?

U T STETOM H @1 SR R 7

The second and fourth central moments of a
distribution are respectively 3 and 26. Find
Kurtosis based on moments.

data

T §eA gt @ =Iq F5 giErd e 3

2

9

wd 26 & | uftama i@ gyeiEe %1 A

shifara |

Co-efficient  of  colligation  between
adult and married girls of a college
is +0.2679. Find out Yule's co-efficient of

association.

2

T e 1 aues Ul faanfed s % e
WW+O.2679% | 61 1 HIE=d T

F1a HIfST |

In a group of equal number of men and
women 10% men and 45% women are
unemployed. What is the probability that a
person selected at random is unemployed ?

2

@Wﬁwa%ﬁmmﬁ%lm%w

45% Rl SO
;a&%méﬁﬁuﬁmmiﬁﬁﬁl

2

i agfees FTA TR

’-ﬂ

(Vi) It js known that the sum ot squares between
§amples i5 16 and degree of freedom s 1. It
Is also known that the sum of squares within
samples is 28 and degree of freedom is 14.
Find out variance Ratio (F-Ratio).

2

%m%_%gﬁzﬁ%umaﬁwﬁnlﬁw
A Fe 1 R ) a7 off A 2 ufe &
HTTE ] A 28 7Y WA FE 14 2|

et 31wma (F-3rar) 7 it |

(vii)) Explain any two applications of normal

Scanned with CamScanner

frequency distribution. 2
THW A 52 % HIS & 3741 I |
(ix)  Give formula of sampling error. 2
et 3fe = o 4w |
(x)  What is the difference between parameters
and statistics ? 2
YTae UE Wfereaia 8 a1 e R 7
SECTION-B
s -v
2. What do you mean by Research Design ? Describe
the guiding principles in the construction of a good
research design. 3+5
Y HATHET 379 I THHA & ? U D IEH
HAherey fwior < Ariesies gt %1 vl AR |
3. From the following data estimate the unknown
figure : 8
foTifera wwel & a1 37 7 I
Year (af) 2006 2007 2008 2009 2010 2011
Profit(@™) 98 110 115 7?7 128 145
CcP-1141 3 P.T.O.



4. What do you understand by association of e
attributes ? How is its existence or non- -existence
determined ? 3+5

—

What is Ap

alysis of
a¥e) . \
technique of ariance

)
analysis of v Describe the

o w ¥ 3T = IT‘ET(‘ 7&-'1 ? TH sufeafa = way classification ariance for data with one
. 3+5
srpafeafd w1 fore e oo fopan s @ 7 T TR o 2 7 e ity e
wﬁmmmq "-\qﬂﬂa?f?mm
5. A Life Insurance Company finds that in a certain ' o HHSTE |
city it is 6 : 8 in favour of a male who is now 55
living till he is 75, and is 3 : 5 against a female An lQ test was administered to tive persons
who is now 65 living till she is 85. Find the before and after they were trained. The rcsulté 1'5
probability that at least one of these two will be given below : are
alive 20 years hence. 8 Candid :
e St S el = Tt R 6 e A ueh 5 1 5 Idate I 0o m v vy
T 55 9§ & E, % 75 9¥ a% i @ b E H IQbefore training 110 120 123 132 |25
mm@qmés%aﬂtwéﬁmmaq?%m%aﬁ Qafteraining 120 118 135 136 120
aessﬁﬁﬂwﬁmﬁwnmw FGHI A H - 5 s
0 U FH T & 20 ¢ T Ffem @ B sinD Test whether there is any change in 1Q after the
EG! 50 | t””"“& programme. (Given : t,, (for 4 d.f.) = 4.6) 8
6.  Assume the mean height of students is an exactly frrf * ﬁ:q:ﬁTW % TR E"F Gl
normal distribution with 68.22 inches and a > &1 T T | aioms e gem 9
variance of 10.8 inches. How many students in a e
college of 1000 students would you expect to be Lom vy
over 6 feet tall ? (Area under normal curve oy |
H"H? ﬁi:?,c“*li%’\q 10 120 123 2
corresponding Z = 1.5 is 0.3749) 8 120 123 132 125
7g wrd g T o i Jemgai & sea ywm e = afgaf 120 118 125 136 121
sz 2 | Forment o 68.22 391 Td e 10.8 349 B, . .
s F & 1000 R & & feay i & 78 1 A 5 o afgea A st i
6 S1z # Hfiren e B 1 I 3779 T § 7 ﬁﬁq‘\’a'ﬁ\:ﬁﬁ?ﬁqm%uﬁmwénaon (=
(Z = 1.15 % foT0 s = & =t dmwet 0.3749 4w =40
21
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9. What is Hypothesis 7 How is it formulated and

tested ?

YT T 2 7 7 R Y §4TE Ud WHIfTd ol Al

27

10. The first four raw moments ot a distribution are 7.
70. 140 and 175 respectively. Compute the first
four central moments and the P co-etficients.

Comment upon the nature of the distribution. 12+4+4

T g & T o =R 9REm E: 7, 70. 140 T
175 & | 9uH 4 $=29 o 1 oRewed Hifd |
B TR T i qWr &ed W FHfd W feuolt
$if |

11. A special type of fertilizer was tried on 4 plots A,
B, C and D. In each plot 4 beds were made and the
fertilizer was applied. Given below the yields of
the four plotes. Discuss if the ditference between
the average plot yield is statistically significant.

(Table value of F or 5% level of significance and
for 3 and 12 d.fis 3.49)

CP-1141 6

5+ 15

- Wﬁw&wmmm@mm 9,9 3R e fE
T | S 7 5 - et e i o 3w
@I H1 AT 560 o | < e o, @ s
mmmﬁmmm‘ﬁ?fwm%lw
%ﬁmﬁmﬁmnmm%m

T 7
(Fa:rz:rrmﬁqa.mmimwmv, =3 3
=12W3492 )
Output on Plots
Wl It
A@E) | B@) Cc@ | DR
8 9 3 3
12 4 8 7
1 7 2 8
3 [ 5 2|

12.  What is sampling ? What are its objectives ?
Discuss various methods of selecting samples.
5+5+10
i 1 R 7 6% HH-$H ° A & ¢ viaewm &
7 Y v Oferai o1 s i |
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